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Problem# B-1058 Proposed by M. N. Despande, Nagpur, India

Prove the following identities:
1) 9(Fﬁ+1+F§+stl) - (F§+2+F372) = Li
(2) 9Ly + Lo+ L y) = (Lnyo + Ly p) = 625F,

Solution. The identities may be proved by using Problem B-1044:
(3) L, = 2F, — F+2F]
(4) 25F2 = 2L2., —L2+2L2_,

Taking squares in (3) and using thgt, , = F,, + F,,_, itis obtained

Li = (2F3+1
The same result is obtained from the left-hand side of (ljygueow also thatF),

F,—F,_4.

— F242F% V2= F* 4+ 16F* | + 32F,F> | + 8F3F,_, + 24F*F*

1

The proof of (2) follows analogously from (4), and using ndwattZ,, ., = L,, + L, 1

andL,_o =L, — L,_;.
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